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6. o235 AEol 7P 2 A9 7T E AL,
@ wEz]E°] 9emQl ¢ © AE°]15cmsl ¥

©® YF7}37.68cm¢el ¥

@] A5 9x2=18(cm)
©9%] A& : 15(cm)
©9 A& (A8)x3.14 = 37.68
(A E) = 37.68 = 3.14 = 12(cm)




the 27 2L A R WAE ¢ Pol H

ULk 3 Aol B S wlape] Yol g 7

6 F9| @ Aol HA wE mAe] Yol :
(] o)

1
12x 12 x 3.14 x 5= 75.36( cm?)




8. the 9ol Hol7t 50.24em? A u, MAFE T840,

>
> HE: 4 cm

HH2)E

[ ]x[ ]x314=5024
[ x| ]=50.24+3.14
Dx[’ =16
[]=4(cm)




[a\]
mi
[
£
S
) ~-es

~ K

mf

(&) J

0 |

= &

Q

.. - R_U
I

R0

6x6+2=18(cm?)




